Class Assignment #1 – Structual Design 2. semester
A houseowner want to create a door opening in a façade. The width is 3,50 meter (remember to include abutments) and the deadload from the roof is 2 kN/m. The snowload is 4 kN/m. The deadload from the wall is 0,50 kN/m.
The partial safety factor for climate load is 1,5.
From a brochure from the manufacturer of the door the owner had found out that 10 mm is the maximum acceptable deflection.

You have now to give the owner different proposals to a perpend (steel/laminated wood) with documentation. Use also a computer program to verify the results.
The beam has to be placed

 in the back wall, and the maximum
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space for the width is 110 mm.
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Best regards

Nicolai Green Hansen
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